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<+ HENZ HE 449| eigenvalue= AF, ... Ak

Proof. Ax = A\x,x # 0.
A%x = Mx = \%x

AFx = A(A1x) = ANF1x) = M\Fx

Another proof.
AS =SA, A= S"1AS
AF = (S71AS) ... (S71AS) = S~1AFS
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< AB2} BA= 00| O}l ZH2 eigenvalueE Zt =L}

ABx = \x X #0,and A# 0

BA(Bx) = A(Bx),and Bx # 0.
If Bx = 0,then ABx = A0 = 0 = 0 x, which contradicts A # 0

. A s an eigenvalue of BA.
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« Gram &l E" - AAT, ATA
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* [AHZHO| ME CIE eigenvaluelf LS 35t= eigenvector=
A ZE 2l nl(orthogonal) otCt
= eigenvalue = eigenvector

)\1:}’1’1 ,}ul#)\g
,)\ny’VQ

= A=A
VlTAVz = <V11‘4V2> = <V1j )\zvﬁ = A2 <V1?V2>

VI:';IVQ = VI:LITVQ = ("ilVl)TVQ = <:';1V1._.VQ> = <)\1V1,V2> = )\1 <V1._.V2>

(Vi,va) =0 A # X
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¢ [2 5 1] eigenvalues - eigenvectors
-1 -1 5

0= —A"4+17)\% — 90X + 144 = —(A —8)(A — 6)(\ — 3)

—1 —1
A=8: v, = [ |: A=6:vo=| —1|; A=3: v3=
0 2

—1/if2 —1//6 1/4/3
mw=| 1//2|, m=|-1/V/6| w=]|1//3
0 2//6 1//3

P=| 1/4/2 —1/46 1/4/3 0 6 0
0 2/J6  1/4/3 0 0 3

orthogonal
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AP =PD
A=PDP!
A= PDP'
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Xl CfZto} 7t @3 (orthogonally diagonalizable matrix)
. MARZES SHE Al EHoHA-l Xl 2l H(orthogonal matrix) P2}
CHzie = D7t &EX{S|A A = PDPT = PDP ! E QISZA|7| = HEH

AP = PD, PTAP D

PP = I, PT = Pl, PPT = I
% Xlm [zt 715 e Cf*l (symmetric) s 2 o0|LC}.
El_ y o=
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Eigenvalues - eigenvectors

0= =X\ +12)% — 21\ — 98 = —(A — T)*(\ + 2)

] —1/2 —1
A=T:vi=]10|,vp= ! : A=-2:v3=| —1/2
1 0 1

= U3t eigenvalue0] CH3H eigenvector=0 CHSH Gram-Schmidt 17 M &
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